2 1 -1
Itis knownthat A={3 2 -3|.IfB=A°-2A°-3A*+9A3-4A?—6A +8I find B and €&, both

31 =2

solution should be expressed in terms of a 3x3 matrix. [97 &KL AK 1]

2-A 1 -1
[fE]A-A|=0=| 3 2-% -3 |=0=>-(A+2)A-2)"-12-6(A—2)+3(L+2)=0
1 —-2-A
7&—273—x+2=0:(x+1)(x—1)(x—2)=0:>k=—1,1,2
0
7»=—1,(A—7»I)x=0:>{ -3 |x=0=>x,=|1
1
I 1 -1 1
A=L(A-ADx=0={3 1 -3|x=0=>x,= 0}
31 -3 1
0 1 -1 1
A=2,(A-ADx=0=|3 0 -3|x=0=x,=|1
3 1 -4 1

FH Cayley— Hamilton EFHHIA’ —2A7 —A+21=0
B=A°-2A°-3A"+9A°’ —4A° —6A+81 = (A’ —2A° —A+2I)(A’ -2A+3D)+ A +2I

2 1 1] [1 0 0] [4 1 -1
=A+2I=[3 2 -3[+2/0 1 0|=[3 4 -3
31 -2] |00 1] |31 0
HBHVFHEUE R ABVFFEUENN 2151, 3, 4 BEL AGH[EIVRIEIRIZ
1 0 0] ] -1 0 1
D=0 !
0

0 1
,S=11 I|[=8S" =] 0 -1 1
1 1 1 1 -1

S W
A~ O

1
0 e e*|[-1 1 -1 e’ —e —e*-2e —2e* +2e*
=le 0 e*|| 1 -1 =2|=| -e-e e—2e —e+2e*
e e e'l|l-1 =2 2 —e+e’—e* e—e*-2e* —e—2e*+2e*



